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1. Answer the fol‘lc.)wihg multipte choice questions
- (all Compulsory) « . 1x6=6

@) The Nature of the ligand that binds to. the'
€xtracellulay receptor which aCtS as transcrip-
t"’n_fegUIators _jare .

@ Smay hydrophilic molecules

(ii) Smay Vhydrophobic molecules
(iii)'Large hydrophilic molecules .
(V) Large hygrophobic molecules
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(b)

(©)

@

(@)

All of the following are true to

The toll-like receptor contribute to

(i) Innate immunity -

(ii) Adaptive immurity

 (iii) Both (i) and (ij)

(iV) None of the above“ »

The bmdlng affinity of the KDEL L receptor is
very sensitive to

(i) Temperature
(iii) pH - (i) SNARE;

Which phospholipid is the most common in
cell ‘membranes ?

- @) PhOSphatldylcholine'

(ii) Phosphatidylserine

- (iii) Phosphatidylethariolamine

(iv) sphingomyelin

the nuclear

pole complex (NPC), except

@ NPCis 8 Quatemary progepy oo

(i) NPC i 2 8- symmmery e
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' (iii) NPC is a diameter of 120 nm

®

@iv) Cytoplasmlc fibrils form nuclear basket
structure in NPC.

Choose _the incorrect statement from the
following :

- (i) Bacterial genome does not contam

. introns
(ii) Bacterial gen(;me does not contain non-
ing genes - |
(iii) Bacterial genome hias a single origin of
replication '
(iv) Bacterial genome are arranged in a
polycistronic' manner:

2. Answer the following quesuons (all compulsory)
2 .

(a)
(b)

©
d)

(¢)
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5=10
What are the second messenger and its
benefit on cell signaling ?
What do you mean by P“mm'y and |
sm“dmy active transport?
What is an operon ?
Define osmosjs and different tonic solution
Wwhich affect osmosis- |
Which factors decreases the flexibility of a

plasma membrane ?
[Tum over



3. Answer z_iny six of the following questions :

(a)

(®)

(@

(¢)

(f)

().

(h)

(i)

5x6=30

Toll-like Recptors (TLRS) are stimulated by
what type of molecules_ and what is their
functior; ?

Elucidate the Erk signaling pathway with a
suitable diagram. . .

Write about the effects of tempora) and -
spatial summation in synaptic potential at a =

neuron.

What are the structural apg functional

differences present between the V-class and

F-class proton pumps ?

How double pass trans-membrane protein is

synthesized and integrated into the ER
membrane ?

Write about the protein transpory through the
nuclear pore.

How does GPCR increases cytosolic C
and activate PKC ?

a*

Describe how do you yge c

* experimental model. Y

Describe the role of the Kppy, receptor in
the retrieval of ER-resident protein from
Golgi.
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ells as an

4. Answer any two of the following long type

questions :

(a)

(b)

(c)

10x2=20 .

Illustrate how does the transport vesicle
selects the appropriate molecules that need
to be transported excluding others ? How
these molecules are dcliyered to the -
appropriate destinations ? 5+5=10

Deséribc the origin of prokaryotic cells
during primitive earth. Add note on the

:on of eukaryotes from prokaryotes.
evolutio ary , e

qures and replication
nt types of viruses.
re 4+6=10

Describe  the Struc
mechanisms of diffe

5. Answer any one of the following very long type

questions -

(a)

(b)
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‘Describe the structure ©

14XI%14

What do vou. medl by Ras-GEFs and Ras-

GAPs ? [lustrate how p!lofosensfitg; Rﬁ
cell helps in the differentiation o4+10 ::4- ,
in the eye Drosophila- |

f Nuclear Pore

Complex (NPC) using suitable diagram.

?
How NPC disagsembly takes pla.ce 8+6=14
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